= A
N = 0] &F AF S & AN A
20198 &= 20l A L BHGH AHA D
EXN: A4
I HMAD| B HH|
Sl SEIF HAXY CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
241 32,025,341 36,579,243 AN 4,553,902
= 5,870,000
g 13,331,000
& 628,201
= 12,196,140
S M AFD|BE AH| 4,819,800 4,389,800 430,000
= 1,400,000
= 3,419,800
SEEF H2AHXH 4,819,800 4,389,800 430,000
Fag 1,400,000
= 3,419,800
FOI=2AAS (KA 2,729,800 4,064,800 A 1,335,000
201 et 9| 4,800 14,800 A 10,000
01 AP 2t 2] H| 4,800 14,800 A 10,000
O 2] 4,800
— A7R FUXANY BEED
8,0008 » 15 = 40 4,800
401 Al HIZL 201 Y| 2,725,000 4,050,000 N 1,325,000
01 Al&H| 2,706,730 4,031,028 N 1,324,298
O AR FO=RAALY 2,285,240
— S22 &t
700,000,000& * 99.37/100 695,590
— 0222 & s ZHZA
700,000,000& * 99.37/100 695,590
— OlAE SMR2I| ZAH
600,000,000 * 99.37/100 596,220
— MOIZAIEZ HE+
300,000,000 * 99.28/100 297,840
O &2 ENSIFA ASBA
150,000,0009 = 99.28/100 148,920
O £ SF0IS3 2 UETA
150,000,0009 = 99.28/100 148,920
O L&S A2l HAHEX 2 At
15,000,000 = 98.92/100 14,838
O S2H G2 HAHEX 2 At
15,000,000 = 98.92/100 14,838
O s GF0IE2 0tAZEZE AL
45,000,000& * 98.92/100 44 514
O &A G0 NYZ HHIZAH
25,000,000€ = 98.92/100 24,730
O Zds Aot EHIZ2A
25,000,000%J * 98.92/100 24,730
03 AlE 20| 18,270 18,972 ANT702
O ARR F0=RALS 14,760
— S HH|l 700,000,000 = 0.63/100 4,410




2N
X ZH -
L= B

el

5 - 4
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
- 0292 @ SEEIBA
700,000,000& * 0.63/100 4,410
— OtAE TMRI| SA
600,000,000 * 0.63/100 3,780
— MOISAIE2 HE=
300,000,000 * 0.72/100 2,160
O &Y JS0Se2 A=ESM
150,000,000 * 0.72/100 1,080
O & S30Ssl2 AF3M
150,000,000 * 0.72/100 1,080
O 283 Mdel HAEX A
15,000,000 = 1.08/100 162
O T2 gdMhel HAHAER SA
15,000,000 = 1.08/100 162
O zZsY Ed0S tAZEHSA
45,000,000& * 1.08/100 486
O &HE &4g0ts dY2 HUISA
25,000,000 * 1.08/100 270
O Z22&g IS U SA
25,000,000& * 1.08/100 270
SSMe Hel2d o 10,000 5,000 5,000
201 Let249] 10,000 5,000 5,000
01 At 22l 10,000 5,000 5,000
O ger==&Hl 10,000
- IRML SEF===  1,000,0008 = 10A 10,000
(== 80,000 20,000 60,000
401 AIEHI L 2 CHYI 80,000 20,000 60,000
01 A& HI 80,000 20,000 60,000
O sgIIEAIE DI=2EX 24 2 JIRHMEO
PSR 80,000,000& * 14l 80,000
NESS2 LAY 2,000,000 300,000 1,700,000
as 1,400,000
e 600,000
401 Al HIZ 2018 2,000,000 300,000 1,700,000
as 1,400,000
i 600,000
01 A& HI 1,941,480 291,045 1,650,435
O NE=EBZHL AL
1,941,480,000& » 1042 1,941,480
s 1,400,000
s 541,480
02 2teltl 50,000 7,425 42,575
O XNE=E2BZMLAS  50,000,000& * 1JH 2 50,000
03 AIE 2 THHI 8,520 1,530 6,990




A R =y
M s PAADIBE
2 sEFF oAdxd (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O NESEZHLAY
600,000,000 * 1.42/100 8,520
S IIBEAI & 25t 19,812,046 25,348,720 A5,536,674
= 3,420,000
s 10,971,000
< 524,201
s 4,896,845
S SIIEtAIE &I 12,145,905 19,834,400 AT,688,495
= 3,420,000
s 5,328,000
< 150,000
[ia 3,247,905
St HHl S==IHE ALY 400,000 319,300 80,700
= 320,000
s 80,000
401 Al HI X 201 400,000 319,300 80,700
= 320,000
s 80,000
01 A& Hl 397,120 317,002 80,118
O StLUHHIE=IHL AL
400,000,000 * 99.28/100 397,120
= 320,000
s 77,120
03 Al 2 0HHI 2,880 2,298 582
O StLUHHE=IHL AL
400,000,000& * 0.72/100 2,880
SZIIBHAIE A2l HEAY 280,000 180,000 100,000
403 Ut S EX201 & 280,000 180,000 100,000
02 SO 2SOIlCHEH A2 X 2 & A I 280,000 180,000 100,000
O =EXART 4T L Hh+22 KX 22
40,000,000& = 11X+ 40,000
O Zs =& |22
30,000,000& * 1XI+ 30,000
O BIEET 4T L 4L 2 SR e
40,000,000& = 14 40,000
O AHLHZFEX Bi==& 2 =22 FX2al
70,000,000 = 14! 70,000
O S=sHESA 7S Ei+=2 HE=+
100,000,000& * 1A 100,000
F0=g I HU AL (ZXA) 349,600 244,600 105,000
201 et 91,600 86,600 5,000
01 At 22l 76,600 71,600 5,000
O = & Hl 1,600
— FO%® =l Zy
8,000& = 5% « 40 1,600
oOgd x &z 75,000




2N
X ZH -
L= B

el

Fag=n;
sSIIBAI S 25
sgIlegAE Fi

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— JHSA 8llas =280 94
500,000& = 20H = 20 20,000
— SS9 22 =& 34 Xt
500,000& * 10 » 110 ™ 55,000
02 E2=2=2%H| 15,000 15,000 0
O AI&EEHI KXY 15,000
— SYIIBAIE AIE&EHl |X
5,000,000& * 30 15,000
401 AlEHIZ 2 0HY| 258,000 158,000 100,000
01 Al& B 258,000 158,000 100,000
O £2AES (Y2, HE2H) Hl
3,000,000 = 1302 39,000
O £=FZL2HE=T ¢ 1,800,000& * 50 9,000
O M=K H&g &=2HA - S HII
1,000,000& = 110904 = 13 110,000
O =8 H4+X HEHA(%2) B8
18,000,000 = 5JH A&~ 90,000
O M£X Z2to Ayl
1,000,000& * 1000 2~ 10,000
el H el AlE 40,000 40,000 0]
401 Al HI L 2 0HHI 40,000 40,000 0
01 A& H| 40,000 40,000 0
O #=clA £=clAl& 5,000,000& = 8JH A 40,000
SMHEIHE ALY 16,500 116,500 A 100,000
201 gBt24d| 1,500 1,500 0
01 AFR2 22| H| 1,500 1,500 0
O «Btxx=ZH| 1,500
— UUISAMHESIHEAY AR Z22AIE &2
P HEE 100,000& * 15A|2¢ 1,500
401 AlEHIZL 2 0HY| 15,000 15,000 0
01 Al&EH| 15,000 15,000 0
O AN&E=2 B2 & g2
15,000,000& = 14l 15,000
SESAMNE LT (LEXR) 3,657,000 3,845,000 A 188,000
Fag 2,560,000
= 1,097,000
201 LBt 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
O 29x¢ 4,000
— EH E=EZAHINELSFN AAF L X
2ag 400,000 = 53] 2,000
— EH SEZEZHNELHSFE A{S =
400,000€ = 53| 2,000




2N
X ZH -
L= B
el

Fag=n;
sSIIBAI S 25
SEIIEAIE FHI

_ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 4,000 5,600 A 1,600
01 2L I 4,000 5,600 A 1,600

O &2 =AML (LBAT)
20,000 * 29 = 40< 1,600
O MdMH =S AXNELESH(LLXF)
20,0008 * 29 x 60 2,400
301 LBt A= 3,000 0 3,000
09 HAIAHI EAZ 3,000 0 3,000
O Fodga2ds = MOIU &4
250,000 * 43| 1,000
O Z=olotars MEX A8
1,000,000& * 23| 2,000
307 S12t0| & 10,000 0 10,000
02 DIZFEAAIE E X 10,000 0 10,000
O &g s=ZAXNESHAIE —’F—F_'Oi%*’o*@
mE=+ 400,000 43| 1,600
O CUY SEZYNHLBANY XA &
=gl 500,000& = 4& 2,000
O E2dH SE=ESHANE2LHSAMGE AIRE &S|
1,600,000& = 48 6,400
401 Al HI L E0HHI 304,400 0 304,400
hag 226,000
= 78,400
01 Al&H| 304,400 0 304,400
O T2UH S==MX S48 (LetXF)
304,400,000 = 1A 304,400
g 226,000
= 78,400
403 XHXI IS X0l & 3,331,600 3,839,400 A 507,800
Fag 2,334,000
= 997,600
02 Z2I)|2SoUsHI 22X E A HI 3,331,600 3,839,400 A 507,800
O ZdH SEZANSHES(LBIR)
3,331,600,000& = 14! 3,331,600
g 2,334,000
= 997,600
2ClAIEIE ALY 570,000 600,000 A 30,000
g 456,000
= 114,000
401 Al HI L 2 0HHI 570,000 600,000 A 30,000
Fag 456,000
= 114,000
01 Al & H| 565,500 595,680 A 30,180
O BtE X7 £=2AE HES
50,000,000 = 98.92/100 49,460
= 39,568




EXN: A4
B =0 BAI A 2S
Sl SeIIBAIE F (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 9,892
O et&EXNF =2lAE HES
120,000,000 * 99.10/100 118,920
Fag 95,136
= 23,784
O SHAHI2ZXI 2 F=2lAld HE X
400,000,000& = 99.28/100 397,120
Fag 317,696
= 79,424
03 AlE 201 4,500 4,320 180
O StEX R £S2lAE HES
50,000,000 = 1.08/100 540
= 432
= 108
O et&EXNF S=2lAE HES
120,000,000 = 0.9/100 1,080
g 864
= 216
O BHAMI2XI 7 F2lAld HE X
400,000,000& = 0.72/100 2,880
Fag 2,304
= 576
AMUWEEZHONE A 2,000,000 2,000,000 0]
= 2,000,000
401 AlEHIZL 2 0HY| 2,000,000 2,000,000 0
= 2,000,000
01 Al&H| 1,879,600 1,819,600 60,000
O AFLHEEXH HE 4= A
1,879,600,000& = 1JH A& 1,879,600
= 1,879,600
02 22l 100,000 160,000 A 60,000
O AFLHEEEH HE 4= AL
100,000,000& » 1JH A 100,000
= 100,000
03 AlE 21| 20,400 20,400 0
O AU XM JHE =AY
2,000,000,000& * 1.02/100 20,400
= 20,400
SHYZHONE A 650,000 0 650,000
= 500,000
& 150,000
401 AlEHIZL 2 0HY| 650,000 0 650,000
= 500,000
= 150,000
01 Al&H| 650,000 0 650,000
O ZHEUXZHIMHNES=AY
650,000,000& = 1JH A 650,000
= 500,000




2N AL
Y =HI|BAIE 23S
el = IIBAIA H| (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 150,000
ANz [282] 50,000 38,000 12,000
= 35,000
s 15,000
403 Mt SHHSA=0l& 50,000 38,000 12,000
s 35,000
s 15,000
02 S 2S0CHet A =X 2 & Ar H 50,000 38,000 12,000
O Z&Z Alzde2st 50,000,000 = 14l 50,000
s 35,000
[ia 15,000
o222 s=2s =X 357,000 143,000 214,000
s 250,000
i 107,000
403 X SHHE A0l & 357,000 143,000 214,000
s 250,000
e 107,000
02 S 2SO0 HEAEZE 2 E AL 357,000 143,000 214,000
O &d 2= 228 0I2Us)(UseHAZ=S
Zat=X) 357,000,000& * 14! 357,000
as 250,000
s 107,000
SEMEEZTZH ALY 285,740 2,425,000 22,139,260
as 200,000
e 85,740
401 Al HI L 2 THHI 285,740 2,425,000 ~2,139,260
s 200,000
s 85,740
01 A& HI 283,683 2,416,270 A2,132,587
O sEMESZIHIAY
285,740,000& = 99.28/100 283,683
ras 198,560
e 85,123
03 A& S THHI 2,057 8,730 A6,673
O sEMESZIHIAY
285,740,000& * 0.7197/100 2,057
s 1,440
e 617
ST 4N A 600,000 0 600,000
2 600,000
401 Al HIZ 201 Y] 600,000 0 600,000
= 600,000
01 A& HI 545,740 0 545,740
O SEX7 =AY
545,740,000 * 1002 545,740
= 545,740




Fa =
S| BrAI L 5
SYIIBAIE FH (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
02 Zeltl 50,000 50,000
O SEX7 ti==Hd A
50,000,000& * 1JH A 50,000
= 50,000
03 A& S THHI 4,260 4,260
O SEX7 e A
300,000,000 = 1.42/100 4,260
= 4,260
B s sESEX 243 650,000 0 650,000
s 350,000
s 300,000
201 LBH2EH| 4,000 0 4,000
01 At 22l 4,000 0 4,000
O s sESHUXNLHa = YA 2 X2
=g 400,000& = 53| 2,000
O Lds sENLa =8 2=
400,000& = 53| 2,000
202 O4dl 3,000 0 3,000
01 =2 LHAYI 3,000 0 3,000
O 2ig sEsaXNEds =2 FUHHHI
20,0003 = 2H = 75¢ 3,000
301 etE a3 3,000 0 3,000
09 SALAHIEA S 3,000 0 3,000
O FolAak2s W MOlILE &4
250,000& = 43| 1,000
O Foloigas MAX 28
1,000,000& =* 23] 2,000
307 21201 A 10,000 0 10,000
02 It S AIHE L 10,000 0 10,000
O Zis sESHUXNELHSAY FoIAS 25}
= 400,000& = 43| 1,600
O Zig sESAXNELSAY FHAJAS &
St 500,000& = 43 2,000
O Zig sESHUXNELHIIAY ARE 23|
1,600,000& » 4& 6,400
401 AIEBIZ 28I 630,000 0 630,000
s 350,000
s 280,000
01 A& Hl 630,000 0 630,000
O Zig sES8X 245t
480,000,000 = 14l 480,000
s 350,000
s 130,000
O 2xgs s=34X 243 EXNOHLH
303,642& = 494m’ 150,000




A AL
B S| u A2
el =HIIBtAIE I (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ZgH I =48 HESH 300,000 0 300,000
) 210,000
s 90,000
202 O4dl 1,600 0 1,600
01 = LHA YI 1,600 0 1,600
O Zae JEME HESH
20,0003 = 28 40 1,600
403 XSS X201 & 298,400 0 298,400
s 210,000
= 88,400
02 ZII 2SOl CHEHAH= & 9 € AN b 298,400 0 298,400
O Hae JNEMEHESIA
298,400,000 * 14 298,400
= 210,000
s 88,400
FHAXNY MEBHHIML 1,428,000 0 1,428,000
s 1,000,000
[ia 428,000
401 AIEHIZ 28I 1,428,000 0 1,428,000
s 1,000,000
[ia 428,000
01 A& Bl 1,417,718 0 1,417,718
O 2FS HE HANHMBOANA
428,000,000& = 99.2797% 424,918
= 297,843
2 127,075
O To MA oK ME 02N A
500,000,000& * 99.28% 496,400
s 347,480
[ia 148,920
O gdd S HAXNAMENA N
500,000,000& * 99.28% 496,400
2 347,480
[ia 148,920
03 Al 20l 10,282 0 10,282
O 2TES HE oK A ME 02 &
428,000,000 * 0.72% 3,082
= 2,157
s 925
O TgH X4& HAXNSHMEHAMNM
500,000,000& * 0.72% 3,600
s 2,520
i 1,080
O 8ad S HAXNAMENA N
500,000,000& * 0.72% 3,600
s 2,520
i 1,080




2N
X ZH -
L= B

el

O O ¥
2 02 nx

U Uk

T

@
> >

r

SN HH-S(BN) - MBAY - B il HlnE2
SeSII(XHEHY) 150,000 0 150,000
s 105,000
s 45,000
403 UHXISHHSA=0l& 150,000 0 150,000
s 105,000
s 45,000
02 SO 2SOlCHst A2 X 2| EF A I 150,000 0 150,000
O ZgH S8 0SS0l
50,000,000& = 14 50,000
s 35,000
s 15,000
O ZgH Y 0SS0l
50,000,000& = 14 50,000
s 35,000
s 15,000
O &gdH &5 Otses)|
50,000,000& = 14 50,000
s 35,000
s 15,000
=8 S3LU=H 362,065 0 362,065
s 162,000
s 200,065
401 Al I 28I 362,065 0 362,065
s 162,000
[ia 200,065
01 A& Hl 360,402 0 360,402
O s sEE33SU=E ZHAY
231,000,000& * 99.28% 229,337
s 160,536
s 68,801
O =&8 22U A EX0LH
45,3043 = 2,893m’ 131,065
03 Al 2 0HHI 1,663 0 1,663
O 2AE SEHTZYUEY ZLAY
231,000,000& * 0.7199% 1,663
s 1,464
s 199
2HE ALY 116,320 110,320 6,000
d2® K& 116,320 110,320 6,000
201 2et24d] 40,320 40,320 0
01 At 22l 4,320 4,320 0
O det=8H| 4,320
— Y WAE(HY N2, 53) FMI|gEDE
=== 360,000& = 12713 4,320
02 2322l 36,000 36,000 0
O 3322 2 MA 36,000




A AL
Y =HI|BAIE 23S
9l 2 A CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— =clAMEE(ZFE S) HIIe3
3,000,000& = 124 & 36,000
401 Al& Bl 28I 76,000 70,000 6,000
01 A& HI 76,000 70,000 6,000
O 2L A&E2 E=Hl
25,000,000& * 2K+ 50,000
O 24HEX E2 E= 3,000,000& * 1K+ 3,000
O 238X =2 &4 1,500,000& = 2K+ 3,000
O 2HHX 245 +TNH g 48
20,000,000& = 14 20,000
sIE&S AL 7,549,821 5,404,000 2,145,821
s 5,643,000
< 374,201
s 1,532,620
T2 FXESAY 337,500 241,250 96,250
s 270,000
s 67,500
401 Al BIZ 201 8I 337,500 241,250 96,250
s 270,000
s 67,500
INE=1:1 335,070 239,513 95,557
O S22 S3AY
337,500,000 = 99.28/100 335,070
s 268,056
i 67,014
03 Al 20 HI 2,430 1,737 693
STZAXESAY
337,500,000 = 0.72/100 2,430
s 1,944
[ia 486
IIAHSFBRZ SHIH ALY 497,571 684,000 A 186,429
s 300,000
= 38,571
= 159,000
401 AIEBIZL 28I 428,571 600,000 A171,429
s 300,000
< 38,571
[ia 90,000
01 A& Bl 425,485 596,220 A 170,735
O JIAHSBEZ XA
428,571,000& * 99.2798/10 425,485
s 297,840
< 38,294
[ia 89,351
03 Al 20 HI 3,086 3,780 A 694
O JIAHSBEZ XA
428,571,000& * 0.72/100 3,086




EXN: A4
M sAH)|BHA A 25
& sPHAS AL (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Fag 2,160
= 277
= 649
403 XX SHHS K20 & 69,000 84,000 A 15,000
02 BII2SHUESKA2ERAEAISHI 69,000 84,000 A 15,000
O JIHBIEZR LAY (Z2HEER)
69,000,000 69,000
XA ALY 5,349,000 3,710,000 1,639,000
g 3,980,000
= 199,000
= 1,170,000
401 AlEHIZL 2 0HY| 4,974,000 3,550,000 1,424,000
= 3,980,000
= 199,000
= 795,000
01 Al&H| 4,670,551 3,187,282 1,483,269
O g93X7 EEHXAH
1,120,192,000& = 1JH A&~ 1,120,192
= 980,000
& 49,000
= 91,192
O AM=XNT rEEHX A
1,483,927 ,000& = 1JH A&~ 1,483,927
Fag 1,250,000
= 62,500
= 171,427
O 22X =23 X8el
1,884,912,000& = 1JH 4 1,884,912
Fag 1,600,000
& 80,000
= 204,912
O 2tgX=2 a3 xdel
181,520,000& » 1JH A 181,520
Fag 150,000
& 7,500
= 24,020
02 22|l 286,735 352,062 NB5,327
O gEXP WRABXHL
101,329,000& » 1JH A 101,329
O AME=XF HEZ XA
73,173,000& = 100 A 73,173
O 22T WIAETEL
109,408,000& » 1JH A 109,408
O otex+: thraFXaEe
2,825,000€ * 104 2,825
03 AlIE 21| 16,714 10,656 6,058
CICENEREEEPE-El
245,000,000& * 1.42/100 3,479




A R =y
Y =HI|BAIE 23S
& sPHAS AL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O M=XZ =3 XE
312,000,000 * 1.5705/100 4,900
O sZX7 =3 XEe
400,000,000& * 1.42/100 5,680
O X7 =223 XEe
187,000,000 * 1.4195/100 2,655
403 Ut SHHS =0l & 375,000 160,000 215,000
02 SO 2SOICHsH A2 X 2 A I 375,000 160,000 215,000
O ek HreEzxdel(2H2g:)
375,000,000& * 1JH A 375,000
It ALY 1,365,750 768,750 597,000
s 1,093,000
< 136,630
s 136,120
401 AIEHIZL 20HEI 1,365,750 768,750 597,000
s 1,093,000
< 136,630
[ia 136,120
01 A& HI 1,264,754 737,208 527,546
O ZSXF Lot FHlAY
469,651,000 = 10H 4 469,651
s 400,000
< 50,000
[ia 19,651
O E&X7 &I HHIAY
345,793,000& » 1004 345,793
s 307,000
< 38,380
fia 413
O EZXF &Il HUIAY
161,860,000& * 1JH 2 161,860
s 146,000
< 15,860
O =X+ &Il HHIAY
287,450,000& * 1JH 4 287,450
s 240,000
< 30,000
s 17,450
02 Zeltl 93,514 30,234 63,280
O ZSX7 &Il HUIAY
29,747,000 » 10H 2 29,747
O E§&X7 &Il HUIAY
35,157,000& * 10H 4 35,157
O SEXF oIt FHIAE
18,610,000 * 1JH 2 18,610
< 2,390
s 16,220
O SDXF Lot FHIA
10,000,000& * 1JH 2 10,000




A R =y
Y =HI|BAIE 23S
& sPHAS AL (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 7,482 1,308 6,174
O ESX7 Lo/t FHIA
50,125,000 * 1.699/100 852
O g&X=7 Zo/gt FHIA
150,000,000 = 1.70/100 2,550
O EZX 7 &Il HHIAY
90,000,000& * 1.70/100 1,530
O =X+ &Il HUIAY
150,000,000 = 1.70/100 2,550
S A 2e 2,292,905 2,159,433 133,472
oo, S0HE T2AY 1,418,537 1,508,665 A 90,128
M= E P\ 5,138 4,685 453
101 @124l 4,008 3,615 393
04 D12t 22 HEE = 4,008 3,615 393
O NSEXA 66,800 » 60H 4,008
201 ¢4l 630 570 60
01 At 22l 630 570 60
O get==&H| 150
— ARES 2l 150,000 * 14 150
O =&l 480
— WSEXZAM 8,000& = 60" =« 13l 480
202 04l 500 500 0
01 = LH 4 HI 500 500 0
O wusdExA =& 20,000& = 253| 500
=AY 411,400 607,400 A 196,000
201 ¢er24| 6,400 6,400 0
01 At 2t 2l 6,400 6,400 0
O e+l 6,400
- RWH(IEDER 2) =2 £33
500,000& = 10A 5,000
— JIRMHY 08&I ==8
70,000& = 20A 1,400
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400,000,000 * 99.28/100 397,120
O B=AEY SsHEEZ SZHIA
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201 £B-2d| 64,000 59,000 5,000
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20,0003 = 4% = 72¢& 5,760
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100,000,000 * 99.10/100 99,100
03 Al S THHI 900 900 0




2N A4

M T 2AA2E

@2 HENER (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O MHENEZ tHAIE S22l
100,000,000 * 0.90/100 900
SR 2 774,368 550,768 223,600
T2 RA 84,490 68,590 15,900
201 Let24d] 54,440 44,000 10,440
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O m=l 900
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O =&l 3,840
- E23Y| 8,000& = 4% * 120 3,840
02 2324l 47,680 39,480 8,200
O =322 % HMA 980
— =ZJUIA AHYY 23
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- =ZUIAY E=HeldlE
35,000& = 43| 140
- SEsSNz 40,000 = 12& 480
O AM&EHIS X 6,900
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O E2eAtE 2¢ 250,000& = 2004 5,000
O Ez&el&8 o=J ¢ 500,000& = 24 1,000
O &Ezze8 dIls #¢ 500,000& = 204 1,000
ol CH 24 29,878 29,078 800
201 £B-2dH| 11,778 10,978 800
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O = & dl 1,600
— dolitH =& 8,000& = 10 » 20¢ 1,600
02 =224l 10,178 10,178 0
O Azl 1,178
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O AIE€&EHIRX b 9,000
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206 M= Hl 18,100 18,100 0
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O M&8 XM 18,100
— LS (EW) 400,000& = 25& 10,000
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EZ2FH| 660,000 313,100 346,900
401 AIEHI L 2CHEI 298,000 313,100 A 15,100
01 A& HI 298,000 313,100 A 15,100
O TzxXae Fyl 1,000,000& = 100H & 10,000
O E2HXNX= WA 5,000,000& * 204 10,000
O EztdEXE F 300,000& » 3004 & 9,000
O =2 XE 4X 2,000,000 * 50 A 10,000
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30,000& * 200ton 6,000
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O 2& d TAIA 10,000,000 * 9km 90,000
O sHEEZ M 10,000,000& * 9km 90,000
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O L=t 600
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30,0003 = 204 600
202 O4dl 1,360 1,360 0
01 = LHA YI 1,360 1,360 0
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20,0003 = 2H = 243| 960
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01 A& HI 46,600 56,600 A 10,000
O -8 sgzdins A4 ¥ FHl
600,000& * 110 5 - & 6,600
O 808 HAID ald 4X
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3,000,000& * 69H £ 18,000
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O ddet=2H| 4,400
— oM Yo A2 312
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O 294 10,280
— 2SN B 2
70,000 * 15% * 23| 2,100
— SN, A= RSN BY 2g
70,000& * 14Y = 13| 980
— ZHE MUK ML (AHH)
50,000& x 5% x 123] 3,000
— ZHE HiI2UASs AL (HH)
70,000& x 5% x 123] 4,200
02 E2=2=2%H| 33,000 33,000 0
O AI&E&EHI KXY 33,000
— SAAHSEHZSAHH(UPIS) DB & St 5t
20,000,000 = 1Al 20,000
— SAHEHEAAHPIS) HH SANESE
13,000,000& = 14l 13,000
202 044 2,000 1,600 400
01 2Ll 2,000 1,600 400
O Z&2HE 28 F4H
20,000 x 2 » 25 1,000
O &J0&dd & DI=2=EA Y =& HHEEOI
20,000 * 2% x 252! 1,000
401 AlEHIZL 2 0HY| 150,000 50,000 100,000
01 Al&H| 149,460 49,460 100,000
O ZZ2AHE MEH 249
100,000,000 * 14! 100,000
O &J018d &« DX EX Y
50,000,000& = 98.92/100 49,460
03 AlE 20| 540 540 0
O &J0Ed & 022X EX HY
50,000,000& = 1.08/100 540
S A A A 1,810,072 300,000 1,510,072
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= 6,100
201 LBt | 9,100 0 9,100
= 3,000
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O 2| 3,300
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O 29x¢ 2,800
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70,0003 * 20 * 23| 2,800
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500,000& = 24l 1,000
= 1,000
O ZTAITHAEAIY F&IISE 2,000,0008 » 14 2,000
= 2,000
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= 100,000
401 Al HIZ 201 8] 1,418,972 300,000 1,118,972
= 1,418,972
01 A& HI 1,412,059 300,000 1,112,059
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= 12,356
O Art &3l 300,000,000& * 99.28% 297,840
=2 297,840
O =222 FA4s MY
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O SLZ HEW=2 ZHAY
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03 Al 20 HI 6,913 0 6,913
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= 2,160
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o 960,000
< 104,000
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o 960,000
< 104,000
01 A& HI 1,057,297 241,250 816,047
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S (AT E 2 E )
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100,000& = 2¥ = 33| 128 7,200

_23_




SN AL

PSRN II; 2 T AIDHE
&2 XNEIEAIE &5 ¥ FH| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,200
204 H @23 A Y| 4,740 0 4,740
2 4,740
02 a2 =4 3,540 0 3,540
O AR=F 155,000& » 198 = 128 1,860
= 1,860
O AMR& 140,000& » 18 = 128 1,680
= 1,680
03 EZYRFH 1,200 0 1,200
O terg sl 50,000& = 2% = 12& 1,200
= 1,200
LA EH 19,540 0 19,540
201 L2l 19,140 0 19,140
01 At 22l 7,700 0 7,700
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— WO LSH FH BAFH 2ERY
100,000& * 102/ 1,000
— 2O LSF Ttets P
90,000 * 204 1,800
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O E24 sS4tz EHID]
70,000& = 8% = 103 5,600
401 Al HI L 2 0HHI 10,000 10,000 0
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O BE244 5 TASE B4 - Ul 3A
10,000,000& = 1A 10,000
MHARtZER =4 58,800 480,860 AN422,060
101 21214| 16,800 16,800 0
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O B30 Xe daX As & f3Is A
70,000& * 2% « 53] 700
O 2 B2 & SN & &9
0,000& = 15 300
S AN Z2F 9,800 9,800 0
201 L4l 4,800 4,800 0
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